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SECTION - I
g |
CHILD DEVELOPMENT AND PEDAGOGY
e forre w Rreremer
There are 30 Questions in all in this section,
All questions are compulsory.
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Axlc‘"'“mk- disability that involves difficulty in handwriting is called
(r( ) gv?lcxm , . (B) Dyscalculia '
(C)  Dysgraphia (D) Attention deficit hyperactive disorder
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Which one of the following is related to summative evaluation ?

(A} Provide the teacher with continuous md immediate feedback about student’s 1
progress.

(B) Focuses on molecular analysis of instructional material.

(C)  On-going of systematic assessment of learner’s achievement.

(D) Terminal assessment of the learner’s performance at the end of the session.
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Howard Gardner says that there are many specific types of intelligence or frames of mind.

Which one is a category of intelligence as suggested by him ?

(A) Analytical Intelhgence (B) Creative Intelligence

(C) Naturalist Skills (D) Practical Intelligence
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(A) oo 4fa (B) THATHF qfg
(C) sepfaard) S (D) - =aEifE qfe
In our country many children speak more than one language. Find out from the following,
the correct advantage to children who has ability to speak two languages.
(A) Facilitate concept formation (B) Facilitate analytical reasoning
(C) Facilitate cognitive flexibility (D) All the above
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S. Ateacher in the classroom is doing some activities like : (a) asking not only what hqppened
!)ut also “how and why", (b) helping them to compare various answers to a thestan ‘and )
JUdge which is really the best answer. From thinking point of view, through these activities
he is trying to promote : '

(A)  Analogy (B) Cnritical thinking

(C)  Integrative thinking (D) Concept mapping |
O eI e ¥ o fafafy # @R, 3 () 7 e 98 @ H R w0 gon afes 78 of
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(A) aHwET (B) ITefreeaTs 9"

(C) vdipaura (D) Jyrgron qHfEE

6. Positive or negative stimuli or events that can motivate a student’s behaviour, Which
’ psychological perspective explain motivation in this way ?

(A) Humanistic (B) Behavioural
(C) Cognitive (D) Social
| \maﬁtmsﬁmﬁmmﬁ@ﬁ%mﬁmmmﬁlmmﬂmﬁﬁ
uftied 35 R & Sron 61 sgren w0 F
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7. The term inclusion means cducating a child with special educational needs in the
regular classroom,

(A) most of the time (B) full time

(C) sometime (D) noume

HHTAY] Y1eg k1 Haorw, fasm s savaear aet a1 #1  Frafiva wame o Rifi
" ) P |

(A) waifys gy / (B) U a9Y

(C) T8 TG (D) Teret = =#

8. A language teacher teaching a poem in the classroom by explaining the details of the poem

and asking the studerits to draw conclusion or broad view from explanation. It is an example
L]

of
(A) Inductive reasoning | (B) Deductive reasoning
(C) Concept mapping (D) Hypothesis testing

¢ ueh wra ey e § e w0 foaon wvge Fan S e @ R o sH B endem
3 Frepd Preen o1 9% e sA S fonar @ 2 | T 1 o SEmw R :
(A) HTTHATHS A (B) frmmarens s

(C) AT HATET (D) uftareTEr gl




ST-1
()

9. Psychoanal : . F
. ¥sts bel . ‘
1d”. It is called reve that there is 4 Primary means by which the ego “keeps the lid on ihe
(A) Super Egq
(C) Conﬂict23 (B)  Pleasure principle
D) Repression
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10. Infroversion-Extraversion trait of personality is propounded by
(A) Hans Eysenck (B) R.B. Cattle

(C) Gordon Allport (D)  Carl Rogers
&aﬁam—a‘%g@mwﬁnamawﬁn%mmﬁﬁ:
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11, Which of the following best exemphfies what motivation is ?
(A) Student “A™ is emotional about the upcoming school year and wants to.do well.

(B) Student “B™ is energized. sets a high goal for doing well in his maths class, persists
with considerable effort. and score highest in ¢lass.

(C) Student “C™ is good at directing his attention to what he wants to accomplish,
(D) Student “D™ works hard. experiences positive feelings about her academic work.
o 3 B it 7 et aqreor 2 s om w2 7
(A) BT 30 T Tt ¥ & w1 A WIS 2 3R w1 e e 2 |
((B) B @ w8, 39 i & 7 s w0 % w1 wea Praifa o 2, w6 v
% FTY W @A R, IR FET H IHAW 3 UH FATR |
(C) B 8" T8 T T HTA1 el 2 T A1 @ FEf¥m +0 F s 2
(D) B ‘T e NeAa FA &, 35 Nk Hrd F A HeHRIS W31 w1 w2 |

12.  If extrinsic motivation is a means to an end, then intrinsic motivation is

(A) abeginning (B) anend in itself p
(C) abeginning and end . (D) None of the above
aft e Sy G 37 1 76 2, A arfaes o @ N
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3. A systematic science which provides rules, laws and principles for achieving adjustment
with self and the environment is called ,
(A) Motivation (B) Mental hygiene
(C} Leaming (D) Conflict
T R far o e S S 3 W w9 e 0 % e, S of

forgra wem s 2, weena 2 -
(A) o - (B) Temrft smdieran

(C) afepmy (D) &%

14. One of the adjustment mechanism involves thinking logically and socially, in approved
reason of past, present and proposed behaviour is called

(A) . Compensation (B) Rationalization

(C) Regression (D) Repression
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15.  Organization set-up of the school influences learning of students. This factor belongs to
which category ?

(A) Physiological factors (B) Psychological factors’

(C) Social factors (D) Other factors

TR 1 WSS LT BT % HTH H w9iEE w2 | 9% e 39 At & weifer &«
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16.  Which of the following condition promotes adjustment ?

(A) Acute anxiety (B)  Obsessive thought of guat

(C) Fear of illness (D) Free from neurotic fears and anxiety
fop ferferal 4 & 17 Fwrim =) wgran 3t 2 - .
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i
explaimug the mpact of potlution
wmomy 18 best ilustrated by this

assignment

(A)  Analysis

() ('Omy\::; ) iB}  Apphcation
FrR—on (D) Knowledge

?&W%Wﬁmaﬁmﬁémﬁmmm%mﬁmgﬁﬁﬁw%@
T | T6 HIR B =W & rfiewy w4 wEes wh smen f
(A) favergu (B} =g

() v (D) IF

::h :ii)li:\z:;c:t:ul:;f ggll?led'lllf(&nllqlit'n about intelligence. personality qnd classroom
v using appropriate test and check-list. This process is called as

(A) Assessment (B) Mensurement

(C) Evaluation (D) Al the above
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(A) HATHEAR (B} ®=MEA

(C) e (D) FwEres o
Which domain is not named in Bloom’s taxonomy

(A) Cogmuve (B Conative
(C) Affecuve (D) Psychomotor
w7 w1 98w F e # Frfw 7 2 7

(A) AT (B) Formam

(C) wTETHS (D) T

Which one of the following is not a guiding principle ot Natonal Curnculum Framework -

20057

(A) Connecting knowledge to life outside the school.

(B) Making examination more flexible and integrated into classroom life.

(C) Learning should facilitate the rote method.

(D) Ennching the curriculum to provide for overall develupment of children rather than
remain text book centric.
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Initially » baby grasp the object by using his whole palm. Gradually as growth ang
development continues the baby uses finger and thumb to pickup the object. This type of
pProgression 1s

(A} Cephalocaudal progression

(B)  Proximodistal progression

(€} Mass 1o specific action progression

(D) Random progression - .

A O = 1) gt el 6w e v 8 g & | -t g i R
3w el it s i v A IR % forg v R 1 g v ) R

(A) Toseetee yfy

(B) witeusifews yify

(C) =amyes @ fafdme sfad gofy
(D) tffim sy

Devc‘lopment in child is often divided into three broad domains such as physical, cognitive,
emotional and social. So far as developmental process is concerned these domains

(A) develop independently without influencing other

(B) develop in an integrated and wholistic fashion

(C) develop partially

(D) develop randomlv

o= & s it s i, davTers, s et 3 A e 8 § Rnfie
s wven 8 | farermr witean 37 &1 & el ae wafaa @ 7

(A) #3 & ywifas fee famn waa v & fasfim
(B) U ushipa 3R wmy waw A fwfea @
(C) Fifers w9 & fasfim
(D) vt 2 & fowfia

A child who 1s high or low in a characteristic (such as verbal ability) will remain so at
later ages. This statement stress the importance of

{A) Early expenences (B} Environment
(C) Heredity (D} Both Heredity and environment

“ﬁ,a}ﬁ;wﬁm(ﬂmmﬁmmﬁnt.mﬁwﬁmm | R T
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24. The law of use and disuse i bearning is also calied s

(A)  law of effect (B) Jaw of exercise
{ t OISy

(C)  law of remntorcement (D) None of these

Mﬁ'mmm%ﬁmﬁ\ﬂmmt:

(A) W &1 (By oy By

(C) vwem &1 fgn (D) 398 8w 78

25, h\ Paviov's experiment the dog salivated pot only when meat powder was placed directly
m hs mouth. but also well before that 1.¢. when heard the trainer’s footsteps coming down
the stairs. This phenomenon is called as

(A) . Extinction iB)  Uncondinonal stemulus

(C)  Conditioned reflex (D) Readiness

m%mﬁ.ﬁl:mmm%mxﬁiz@imﬁémmt.%wﬂwﬁ'ﬁ
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(A) fawms By T o wiemTes

(C) Fqgpiem o (D) we

26. Cogmition develops through the constant process of interaction between the child and the
environment. This pnnciple 1s reflected 1

(A) Thomdike's lcarming theory (B)  Piaget’s cogmtive development theory
{C) Tolman's signal learming (D) Kohler's learmng theory

Iqfs w2 3 Ie § e s fem ) P sfe & som 8 fasfya o @ | o fagm

4 wfafafes g 2 -
(A) wideEs s fagm By Toars svmme faww fagm
(C) el g% Hm (D) wwen s fagmm

27. In Piaget’s theory a process which is the halancing act between the “old™ and the “new’ -

between perceptions and expenence known as

(A) Assimilation iB)  Accommodation

(C) Equilhibration (D) Knowledge disturbance
foars & fagia 3 v wiE@ g 3T - awend 3 S & die dgee e R, I

AR
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(Cy =gem D) ¥R fas
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Which of the following is not a precaution for using intelligence test ?

(A)  Avoid unwarranted stcremypds and negative expectations about students based oy g
scores,

(B)  Individual assessment of intelligence is a structured interaction between the examine
and the student.

(C)  Don’tuse IQ tests as the main or sole characteristics of competence.

() Be cautious in interpreting the meaningfulness of an overall 1Q score.
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(A) 30 o i & mam e srgfam wgadt stk ol & wit i Feres I & we |
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As per Erikson, psychosocial development of children occurs in Eight stages. A student of
class I (around 9 years) corresponds to which stage of development ?

(A) Autonomy versus shame and doubt(B) Industry versus inferiority

(C) Initiative versus guilt (D) Inumacy versus isolation

W % SR, w1 e R e s i e @ | s s 3w (9w
Fe-o) o & fpg s @ deram # 7

(A) wiftlerft @m w2r & yees &) wgam

(B) ufesny o diwen

(C) Aqea 94 390y

(D) HaTTal 4918 Hernd

Which of the following statement is not true for norm reference test ?

(A) It is a standardized test,
(B) Student’s score is interpreted by comparing it with how others performed.

(C) Testis said to be based on national norm,
(D) Student’s performance is compared with established criteria.
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SECTION - 1

LANGUAGE -
ENGLISH

Th . N _
ere are 30 questions m all in this Section

Al questions are compulsory
Which question is correct in its structure
(A} Why did she write the letter 7 |
(B)  Why did she wrote the letter ?
(C)  Why did she written the letter 7
(D) Why had she wrote the letter ©

“She speaks English fluently.” The correct passive form of the sentence will be
(A)  English 1s being spoken by her fluently.

(B) English has been spoken by her fluently.

(C) English is spoken by her fluently,

(D) English was spoken by her fluently,

Which of the following contains the words beginning with the same consonant sound ?
(A) Chicago - Chorus (B) Cherish - Charisma
{C) China - Chrome (D) Check - Chain

Which of the following contains the same vowel sound ?
(A} hook - brook — luck (B) cat - hat - mat
(C) win— we - see (D) lead - leak — break

Choose the correct phonetic symbol for the underlined sound of the word ‘boy’
(A) /ol (B)y /bae/
(C) ‘bom/ (D) /Mol

What is the proper order of language leamning ?
(A) Listemng, Speaking, Read?ng. Wr?tfng
(B) Listening. Reading, Spcakmg,. Wnt?ng
(C) Reading, Writing, Listcnm'g. Spcakfng
(D) Reading. Listening. Speaking, Writing

is applied in order to choose a particular course for a particular class.

M) The Principle of Motivation
{ B'; The Principle of concreteness

(Cy The Principle of proper order

(1) The Principie of selection Lo



-

41.

42.

43.

45.

47.
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Which is the classical method of teaching English ?

{A) Direct method (B) The Grammar — translation method

(C)  Bilingual method (D) Audio lingual method

Who developed Bilingual method 7

(A) Dr. West (B} Prof C.J. Dodson

(C) Prof AS. Homby (D) Prof. Jesperson

In which approach does the teacher introduce the new words incidently in the class ?
(A} Structural Approach (B) Multlingual Approach

(C}  Situational Approach (D) Multimedia Approach

What is the purpose of writing at Elementary level ?
(A} Development of motor skills

(B) Discnimination of the words

(C) Taking notes

(D) Initating conversation

Which technique of reading is used to look for specific prece of information 7
(A) Library reading (B) Skimming
{C) Oral Reading (D) Scanning

Which is *Look and say’ method of reading 7
(A} The Alphabetic method {B) The Phonic method

ST

(C) The word method (D) The sentence method

—_ has the advantage of providing a focal point of attention for the whole class and
be used for a variety of :

{A) Picture charts (B) Film stnps

{C) Blackboard (D) Shdes

Which 1s NOT a characteristics of a good text book ?
{A) Adequate subject matter (B) Suitable structure
(C) Swnable vocabulary (D)  Frequently misspelt words

Which test is conducted in order to find out the students leaming regarding the

discnnmination of sounds ?

{A) Reading test (B) Comprehension test
(C) Listeming test (D} Writing test
___vests can be scored Quickly and consistently.

(A) Objecuive (B} Productive

') Subjective (D) Prmary

"




¥

STy

(1%
58, Find out the word from the text which means “An event for pubhic entertammien any
trade’
(A} Shaop (B Toys
() Faw (D) Merey-go-rounis

Passage (Q. No, 56 - 60)
The state police went 1o Rastapal village on 19 June, 1947 fo close the schoo which was
running i the house of Nanabhai Khant. Nanabha refused to close the school The pohice they
beat up Nanabhar severely. He fell unconscious. Fhey took him away with them to mmposog
However, Nanabhar died of his injuries on the way before the police could reach thesr camp
After this the police beat up the wacher Sengabhar Bheel who had continued 1o teach the
children despite Nanabhai's death. Afier beating Senpabhai the pohice ted him o therr truck
They took him away dragging on the road. A student of the school named kalibar could not see
this. She ran towards the truck with a sickle to cut the ropes and free senpabliar The police

wamed her not to run after the vehicle but she did not hsten to them She reached her teacher

and cut the rope with one stroke of the sickle

S6.

-57.

The words ‘Sickle” and *Velucles' are
(A)  Adjectives {B) Adverbs
(C)  Nouns (D) Propouns

“The police then beat up Nanabhai severely " The verb  “beat up’ 15 1

(A} Simple Present (B)  Sunple Past
(") Past Perfect (D) Present Pertect

*

‘She reached her teacher and cut the rope with one stroke of the sickle.” The verh - “cut’ 1s

mn -
(A) Simple Present (BY  Simple Past
(C) Simple future (D) Past Perfect

Which of the following has the three degrees of the adjectives i their correct form

(A) Angry - angner - angtiest

(B) Angry - more angry - most angry
(C)  Angry - more angrily - most angrily
(D) Angry - Angener - Angeriest

Which of the following options has a determiner in it
(A) The P"“Cc (B)  then beat up
(C) ook him away (MDY He fell unconscious
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41, T T T v s freofigree f g 2
(A) qeT e wf
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(D) wiEe wwet wfy
42. TegEy” s wra s
(A) wTUEtvEREy
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43. EEATANTE gergvaEy e
(A) v (B) vamvE:
(C) qewly (D) ta=rfireng.

44. mmmmmmmzw@m?
(A) WAl (B) tafms -
(C) wHEy (D) vEAHYEE
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SECTION-IN
LANGUAGE-N
ENGLISH

There are 30 questions in all in this Section.

All questions are compulsory.

The battery has
(A) came down (B) gonedown
(C) run down (D) ran down

Curtal sonnet is
(A) tourteen line poen (B)

: _ ten and a half line poem
(C) thirteen line poem (1)

eighteen and a half line poem

'A lament for the dead 1s a feature of

(A) Ode (B) Elegy
(C) Sonnet (D) Drama

A fictional prose tale of no specified length. but too short to be published as a volume 1s
(A) drama (B)

(C) novellas (D)

novel

short story

‘Conflict’ is a feature of

(A) poem (B) story

(C) drama (D) novel

Identify the word in which the end sound is different from the other words.
(A) sleep (B) reap

(C) teach (D) deep

Pick out the correct transcription of the word *garage’

(A) /guraj (B) garniz

(C) giraz (D) /Gaera:z

Principle of Linking with Life in teaching of English involves

(A) Use of word structure

(B) Use of semantic structures of English language in daily life

(C) Use of building structures in daily life

(D) Use of graded structures of English language in daily li_fe situation
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In Communicative teaching teacher promotes communication by
(A)  Creating situation (B) ' Teacher’s talk
(C)  Bonding of alphabet (D) Creating nervousness

Linguistic Competence refers to :

(A)  Communication knowledge of grammar

(B)  Communication knowledge of vocabulary

(C)  Capability of knowledge

(D)  Communication knowledge of grammar and vocabulary

The challenge of Acquisition Poor Environment refers to
(A)  Learners learning of literature

(B)  Poor study habit |

(C)  Pollution in English language

(D) Limitation of learning English language in classroom

One of the main barriers to listening skill is
(A) Time & Dime (B) Barricades of class
(C) Learner’s prejudice (D) Unscathed Ear

Remedial language teaching is meant for development of
(A)  Particular skills left by regular teaching

(B) Areas left by regular teaching

(C) Limitation of class size

(D) Both (A) & (B)

Remedial work for spoken English involves
(A)  Drill and studying

(B)  Revision, drill, situational communicati
(C) - Going through situational practice

(D) Revis:iop and practice

Ve practice and reviewing

Commum‘cative approach to eval
(A) Importance of meaning of
(B) Importance of form and structure
(C) Importance of evaluation

(D) Importance of learner

uation emphasizes
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76. The integral approach of l'anguage testing involves testing of

(A) Primary language (B) Secondary language

(C) Third language (D) Language in context

77.  Elective Approach to evaluation takes account of
(A) Approach to class
(B) Communicative approach
(C) Structural approach
(D) Combination of commUnicative approach,
approach

integrative approach and structural

78. Remedial teaching should be carried out on
(A) Identification of sentor leamers
(B) Identification 0 f early learners
(C) ldentification of late learners

(D) Identification of malady on janguage test and its causes

79. During preparation of test paper teacher takes care of item development according to

(A) Nominated evaluator
(B) Instruction objectives
(C) Number to copies to be distributed

(D) Seating arrangement

80. In Remedial teaching concentration on trouble spot is best done by
(A) Arranging intensive practice (B) Arranging medicine
(C) Arranging trouble (D) Arranging bubble spot

Passage :
Patriotism or love for one's country is one of the noblest sentiments of man. It is love that comes

from one’s gratefulness to the land where one is born, the country that provides everything that
makes life worth living-food, clothing and shelter. families, friends and the way of life of its
[ people. Or. in other words, it 1s our country that gives us all that we enjoy and-all that makes
man’s life different from and richer than that of all other animals.That is u:'hy patriotic tbeling;

are natural to man.

81.  Which one of the following is the most appropriate title for the passage ?
(A) Patriotism (B) Love for country

fC) Noblest sentiment (D) Patriotic feelings
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‘4 ds’ indicates
82. In the above paragraph ‘in other Wores 7 '
(A) emphasii)s . (B) 'reformulation
(C) Sequence (D) Addition
' i arch.
83. The captain as well as his soldiers ready to m
(A) s (B) are
©) were (D) has

84. In the above passage the author wants to convey
(A) sPatriotism is second to any other sentiment.
(B) Patriotism is not natural.
(C) One must be patriotic to an extent.
(D) One should be grateful to the land where on¢ is born.

85. People who buy stocks are no different from people who bet on horse racing. They both

risk their money with little chance of making a big profit.
Above lines contains

(A) the fallacy of hasty generalization.

(B) the fallacy of false analogy.

(C) the fallacy of composition.

(D) the fallacy of equivocation.

86. What two words are typically used in the construction of a simile 7

(A) for, against (B) with, as
(C) like, as (D) while, during

87. Which of the following lines contains an example of assonance ?
(A) The sleet streaked her sneakers.
(B) The angry dog barked loudly.
(C) The clown caught the kid before he fell.
(D) This is how the world goes.

88. What device is present in the line ‘The Wind whistled a high and lonesome tune’ ?
ome tune’

(A) Irony (B) Personification
(C) Metaphor (D) Alliteration
89. The sentence ‘The lazy lizard lounged near the lake’ ;
is an ‘
(A) Metaphor (B) Alliteration example of ?
(C) hyperbole (D) Paradox

90. Hesaid he reconsider his decision.
(A) may (B) might
(C) can (D) could
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MATHEMATICS / o

The . .
re are 30 'quesnom in all in this section.

All questions are compulsory

ST 5w 30 e § |
wft v wfEe 3

91. If cost price of 12 pens is cqual to selling price of 16 pens, then profit/loss in percentage is

equal to

(A) 25% profit (B) 25%loss

(C)  40% profit (D) 40% loss
@uﬁlzﬁmmtﬁmﬁif%ﬁm{a%m%,a’lm/ﬂﬁﬂm“m%

(A) 25%w®my (B) 25%

(C) 40% =y (D) 40% =rfy

92. Mr. X has a certain amount. He deposited in bank some amount at simple interest rate of
10% and rest amount at 12% rate of simple interest. One fourth of first amount is equal to
the one fifth of rest amount. If total interest is Z 2 ,500 after two years, then total amount

3 invested is equal to
(A) T 12,000 (B) ¥ 11,000

(C) T11,250 (D) ¥ 11,500
o X & are o fifvea ofin 2 1 3 5w afit 10% s s g sk dw aln 129

TS A1 1 X F o 1 U | yuw e e R, S oft ¥ vied el 3 woa
® | afe gt a9 & w1 et =97 T 2,500 F A 91 ) 71§ ot fdy v R

V(A) 212,000 (B) % 11,000
(C) T 11,250 (D) Z 11,500

3 litre mixture of water and sugar has 40% sugar. If | litre water is added in this mlxture

93.
then sugar percentage in new mixture is equal to
(B 30%

A) 25%
EC)) 35% (D) 40%
mﬁaﬂzm%;m%ﬁmﬁm%m%m&naﬁammmﬁmﬁmm

2, a7 frgror § wreby o1 vl aUER
(B) 30%

(A) 25% _ .
(C) 35% (D) 40%



F
and y are equal 10

9. In given parallelogram ABCD, values of x anc

2:' 5}, 75
4x iy 150

(B) x=125%y=25
(D) x=30%y=15

’m %
%
4
!

(A) x=25°%y=125°
(€) x=15%y=30°
®ﬁa"’)m—a§;§awcoﬁ, x 3R y%mmi:

e

150°

(B) x=12.5%y=25°

|| (A) x=25%y=125°
(D) x=30%y=15°

!
(©) x=15%y=30°

; 95, .Kabir buys pencils at the rate of 11 in ¥ 10, He sells it at the rate of 10 in ¥ 11, His profit
‘ In percentage is equal to )
: (A) 10% (B) 11%
(C) 20% (D) 21%
mnoﬁnﬁaﬂﬁﬁm%rﬁ?uﬁmﬁatﬁs%%aém%lmm
- TN W #
(A) 10% (B) 11%
(C) 20% (D) 21%
5.5,4_ 125
96. lfx+6+7+9=2F-then.\'isequalto
A) 1 247
. B T%
349
(C) 126 (D) 2
L 5.5.4 125
Wxt 5752756 M
(A) 1 ®) 247
2126
349

© 126 D) 2
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g7. In given circle, val.ue of 6 is equal 1o ‘

(A) 35% | (B) 45°
). 85 (D) 65°
Ry H, 0% amawaw

(A) 35° (B) 45°
(C) 55° (D) 65°

98.. Out of following which statement does not show nature of Mathematics ?

(A) Mathematics has its own language from which formula, concept principle are

derived.
(B) In Mathematics there is scope to explain the abstract concept.
(C) In Mathematics area of Generalization is narrow,

(D) Numbers, places, measurement are base of Mathematics.

frferfiaa & @ @19 w1 %y it ) gHfa =@ gufar @ 0

(A) Tifer < areft sy gt vk 3o @ g, weww, g o whvare fem s 2
(B) for & v el oh SATEAT 1 HEH RN R |

(C) fore & wreT=fraseor a1 & Wt B R |

(D) HwATd, T, W9 i Tord 1 FYR R |

al
) [
g i 4 bt
s TP
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“The progress and the improvement of Mathematics are linked to the prosperity of (he
State.” This statement reflects which value of Mathematics ?

99,

(A) Social value of Mathematics
(B) Moral value of Mathematics
(C) Artistic value of Mathematics

(D) Disciplinary value of Mathematics

i 3= A gfy 2w A @ R 2 9 A A F w8 A
Wl s R 7

(A) i =1 st ge
(B) ifor 1 Afrs weu

(C) i & wetrensh e
(D) 7o & FeTEATE Yo

100. A device for finding out what pupils understand and can do with a purpose of adapting
future teaching to the needs of the individual or the class is known as

(A) Summative Assessment
(B) Informative Assessment

(C) Diagnostic Assessment

(D) Testing .

T Q) A1 S 7R S S el 2 el feem vl ¥ shosm smmwomm
e T
T, HEATAT &

(A) INTHS ATHH
(B) IO AT
(€) TrerTeT e
(D) Wl
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102.

(D) Tools in Mathematics Education

out of following which i o€ he (71 ' ¥
Charac

Looking in pupi* teristic of informal assessment ?
S anSWer b
00Ks as the
Y are working.

(B) QLis_tening to pupnvs |
. talky ,
discussion, "8 to other pupils as they explain the work or engage in

(A)

2 Monitori
(C) Monitoring responses to teacher question;
‘ 10ning,

() mm@nﬁwﬁmﬁhﬁmwﬁﬁm.mn
(D) ferenflari it so—gftvematt 1 st w37 /i wem w0 |

All teacl}er.s are encouraged to use precise mathematical vocabulary, and to promote the

use of mathematical vocabulary among pupils this vocabulary is known as
(A) Language in Mathematics Education
(B) Valuesin Mathematics Education

(C) Correlation in Mathematics Education

.

mmﬁ@mm%m%@mmmﬂmwa
mwﬁ?ﬁmﬁgmﬁ%,wmﬁmm%

(A) Tifore fRreqor | T
(By ifra fineror # 484
(C) Rra e & HEEeY

(D) fore o § TR
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103. Out of following, which statement is not correct with regard to characferistics of

Mathematics ?

(A) Mathematics is called the Science of logical reasoning.
(B) Mathematics is a way to settle in the mind a habit of reasoning.

(C) Mathematics is not a abstract science.

(D) Mathematics has been defined as the Science of number and space.
13 fod v ot 6 R 8 e v o e ) el A e € 2
A i e R |

(B) i waysd o wftvess  aeh i 31ed H @A HTHF R |

(C) fera argd fomm i 2

(D) nﬁﬁaﬁéwqémn%ﬁma%mﬁqﬂmﬁaﬁmm%l

104. To know the nature and characteristics of error took place by students while solving the

problems of Mathematics is known as
(A) Content analysis in Mathematics
(B) Error analysis in Mathematics
(C) Content synthesis in Mathematics

(D) Error synthesis in Mathematics

ﬁmﬁfﬁmvﬁmmﬁ%mw%ﬂmﬁaﬁmwﬁﬁﬁmaﬁxﬁﬁwﬁ
ﬁmﬁﬁwﬁmaﬁmm{

(A) fore  feeraeg frverr
(B) ifora & f2 ferwereor
(C) ifora # ferserareg wverew
(D) wifora e Heeror
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105. Situation presented by teacher i, t
new topic is known as

(A) Previous knowledge
(C) Statement of aim

F

he classroom to find the attention of students towards

(B)  Introduction

(D) Ideal question

A 5 3 5 Rl 1 e st e 5 e v g - e 9 R
areft iR wan #

() &I . (B) s

(C) Fev8 HYH ) s

106. Out of following which statements does not shows best principles of curriculum

construction in Mathematics ?

(A)  €urriculum of Mathematics should be child centered.
(B) Curriculum of Mathematics should be activity based.
(C) Curriculum of Mathematics should be logically & psychologically arranged.

(D) Curriculum of Mathematics need not require teacher acceptance.

Frerferfiga 4 & i w1 %um i % wegms fuln 91 st ae a @ oot 22

(A) ifora = argasn faenef #f5a g arfiu

(B) ifore w1 argusey faan smarita #mn v |

(C) Tifora o1 UTggshY RAIETT Ue i &0 ¥ suafesa g anfee |
'QD) wfora =1 argusRy TivT JreaTys it wenla w5 v 39 T

107. Out of following which is not hest way of knowing the weaknesses of the students in
Mathematics ?
(A) Asking questions mmde or putside classroom,

(B) Oral work.
(C) Analysis of answer scripts of students.

(D) By comparing students
o 3 & i < Fafty P o e e s T St et Faf i 2 2

(A) frefefedt i &0 % 1G0T WTECIH FA |

(B) wifigs w1

() ferenfifait ot sy 5 v
‘®D) foenffat # qor w1

g
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1 A
08, Two whole numbers are given. If three times of larger number is divided by smaller

Number, then 4 as quotient and 3 as remainder are obtained.. If seven times of S@lﬂ
Number is divided by larger number, then 5 as quotient and 1 as remainder are obtained.

Smaller number is equal to
(A) 25
(B) 18
(C) 36

(D) so
2t st & & 1 o ) s 5 Fogd w9 o e & Faora P s & 4

43ﬁtm3m@m?lw&@am%mﬂaﬁa@mﬁfaﬂﬁa%méﬁ
HPTHE 5 3R IYBS 1 91w R | w1 sy ane |

(A) 25

(B) 18

(C) 36

(D) 50

109. Sum of place values of 7, 6 and 9 in the number 17065809 is equal to

(A) 706009
(B) 7006009
(C) 7060009 -

(D) 70060009
@ AT 170658091 7. 6 31 9 % SR T 1 A g §

(A) 706009
(B) 7006009
(©) 7060000
(D) 70060009
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“F’ §T-1 5) . >

110. If the fOIlOWlng fractions are arranged from smaller to larger fraction, then which fraction
will come in the middle 2

l 3
; Ay 73— " (B) 0313
(C) 31% (D)
10
afe e Bl ) ot & wdt e o s s R o 2, @ W W R w3
It 7
"1 3. 0.909
. 0.909 '
(A) 73 (B) 0313
(€) 31% 3
1. if 9x76

-x6y9

3yy7
then values of x and y are equal to
(A) x=9;y=3 (B) x=3y=9
(C) x=5:y=8 (D) x=4,y=8
ﬂﬁ Ox76

-x6y9

3yy7

A x 3Ry o " E
(A) x=9;y=3 (B) x=3:y=9
(C) N‘-:S;yzg (D) .\‘=4:y:8

112, Mr. X has ¥ 55.600. He invested it in a scheme and got 8 times of ’his amount. Then he
donated ¥ 57.986 to a trust. Again he invested rest amount and got only one third of it.

Now Mr. X has amount equal to
(A) ¥1,28938 (B) 129838

(C) T1,28.948 (D) ¥ 129,848
sft X % ard 7 55,600 & | T 38 wh Ao & Fraw fen 3 3w® v w1 8 e fwn |

e 33 7 57.986 T T H g F > | mwgmmﬁémﬁmaﬁtmm

U Firars e AT | 378 X & U9 U R R

(A) T1,28.938 (B) ¥1.29.838
(C) T1,28,948 ' (D) ¥1,29.848

:
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114,

115.

116.

ST-1

(76)
Ifa regular polygon has 9 sides, then each exterior angle is eqﬁal to
(A) 36° (B) 40°
(C) 1400 (D) 160°
IR wn g B o ot F, A v afeww wwE ~
(A) 36° (B) 40° ,
(C) 140° (D) 160°

Perimeter of a square is 144 cm. If area of a rectangle is equal to the area of this square
and length of rectangle is 81 cm, then difference between length and breadth of rectangle

1s equal to :
(A) 16cm (B) 64cm

(C) 65cm (D) 36cm |

% 1 &1 IRET 144 AR ] | AR v Ea w1 AAB IH T H HIFA F G 2 a°T AT

&1 wrand 81 A R, A 31rga Y ervard ayr Sred § vt aue 2

(A) 168 (B) 64 @

©) esam (D) 368

If H.C.F. (408, 1032) = 1032x — 408y and x + y = 7, then (x — y) is equal to '
(A) 3 (B) -3

€ 2 (D) -2

AR 7.H.T. (408, 1032) = 1032v - 408y W x+ y = 7, Al (v — v) WO R

(A) 3 (B) -3

(C) 2 (D) -2

An examination is being conductéd of three subjects Science, English and Mathematics
having students 60, 105 and 135 respectively. Sitting capacity of each room is same. Also
each room has students of only one subject. Then minimum number of required rooms is
equal to

(A) 15 * (B) 20

ﬁmmﬁﬁwmm%
(A) 15 B) 20
© 25 (D) 30
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118

£PAQ is equal to sector of ZBAC and AQ is perpendicular to BC, then

AN\

(B) 40°
: (D) 25°
fed m Frgt ABC #, AP, /BAC %1 wfinro & 7o AQ, BC w e B, At ZPAQ W &

75 =0
Bmh
Q P -

(A) 20° B) 40°
© 15° @) 25°

(A) 20°
(Cy 15°

In given triangle ABC, OB and OC are bisectors of £B and ZC respectively, then ZBOC

is equal to

(A) 70° (B) 110°
(C) 140° (D) 80°
f3 m fingw ABC #, OB 3R OC F59: £B 3K £C % gufgyre €, @ ZBOC wret R

A
‘ P
BA sC
(A) 70° (B) 110°
(C) 140° (D) 80°




F Sty

(78) p ty
, then which
119, Sides BA and DC of quadrilateral ABCD are extended as pef diagram One of ‘i
the following is true 7
C F
a ‘
X
B 3
(A) x+y=a+b (B) x+y=a-b
(© x-y=22P 0 “5E=a-b

S ABCD 9 sail BA 3tk DC 1 31 g wgrn i €, @ A A 8 P A Ew )

D C
g a
b x
A B

(A) x+y=a+b (B) x+y=a-b
a+b 4y
€) x-y=—3 (D) %l=a'=-b

120. A student's mark was wrongly entered as 108 instead of 98. Due to this mistake, average

@{ "marks of class got increased bv - Total number of students in the class is equal t
al to

(A) 10 (B) 30

() 50 (D) 70 .

TF BT & 3% 98 & a9y lOSjléﬁN%aﬁ’ﬁlwaﬁ%mm%m W
31'5
T | w0 d BE 6 Hel WA T R

(A) 10 (B) 30

(€ 50 (D) 70
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@ 121.

122,

(79)

SECTION-vV /@vg -y

EN
VIRONMENTAL STUDIES ; qatarer 31ea

Ther. 2
¢ are 30 questions in all in this section.

All questions are compulsory.

HEUEH H 30 g E | @
ot w e § |

Which is the state bird of Rajasthan ?

(A) Great Indian Bustard
(B) Peacock

(Cy Vulture}

(D) érane

TIET™ 1 T4 vl P Ei 2 7
(A) TirETE

®) =

() Fra

(D) 9nH

Which ic correctly matched 7
(A) Bombay Natural History Society

(B) Botanical Survey of India

(C)y Wildlife Institute of India

(D) National Botanical Research Institute

- New Delhi
- Kolkata
i Coimbatore

- Jodhpur

S !
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123. Which of the following is not a source of renewable energy ?
(A) Fossil Fuel - (B) Hydro Electricity
(C) Wind Energy (D) Solar Energy

@ Frafefiga § & # @ Fdieroia swt @ @ 2 2
(A) Sftamw fua (B) e freg

(C) . vaa Tt (D) &R F

124. Who coined the term ‘ecosystem” ?

(A) Haeckél (B) Humbaoldt
(C) Tansley (D) Odum

i it wrag %1 et fere foren 7

{ (A) e (B) wwWaElee
(€) &t (D) e

@ 125. Which place of India has highest rainfall ?
(A) Bengaluru (B) Mysorc.
(C) Srinagar (D) Mawsynram
T w1 gathys 9] aen WE S # 7
(A) ST (B) A
(C) TR (D) wiiRm
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(81)
Biotic component of environment incly des

(A) Land i

(C) Plants ©) Water .

At % e e § wftfg 2

(A) ¥ - 5.
Z© (D) v

127.

128.

(A) Cd pollution (B) SO, poliution
" (C) Hg pollution - (D) Noneofthese
ST o 1 ey P & ot 2 7
(A) Cdveso (B) SO, ¥ewm
(C) Hg¥gy™ (D) ¥ & S T
~
Which one of the following is non-projected teaching aid '."
(A) Film strip (B) Chart
(C) Epidiascope (D) Slide
freferfiga 3 & smafa R el SR A R 7
(B) =®

Minamata disease is related to which of the following ?

(A) frem fR9
(C) R faam 7 (Thismrenm) (D) &3S »'
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(82) :
. i : . ervation ?
Which one of the following activity is not related with environment cons

(A) Deforestation
(B) Conservation of natural resources

(C) - Massive plantation

(D) C leaning of waterbodies

{6 Prerferfam & & wh ot nfufafer vertaor s & wwafa @ 2

130.

(A) TR

(B) WThferen HETGA] 1G0T
(C) F&g e

(D) Srerert i ww

in environmental education which teaching method is related to group discussion ?

(A) Role play (B) Lecture
(C) Narration ‘ (D) Symposium

et e e e & v o A R 7

(A) ‘»@Wﬁafs (B) =@

| (C) @A (D) TR~

g

»
Vo4
A

ra |

i
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The main aim of
1. Contmuous and Comprehensive Evaluation (CCE) is
A) to evaluate th oo
( €very aspect of the child during their presence at the school.
B) toeval
(B) uate the interest of the child during their presénce at the school.

C to evaluat '
(C) € knowledge ang comprehension of the child during their presence at the

school.

(D) to evaluate the skills of the child during their presence at the school

@m@mmmmémg@ma
(A) ﬁmﬁm%mm%mmwmmi
(B) ﬁmﬂﬁmﬁ%mmﬁsﬁmmml
(©) mﬁmﬁ%mm%mqﬁaﬁqu@mml
(D) ﬁumaﬁwf@r%%mm%ﬁm‘imﬁmml

132. Full form of IEEP is

(A) International Environmental Education Project

(B) International Environmental Education Programme
(C) Indian Environmental Education Project

(D) Indian Environmental Education Programme
IR 3§ i EIR:

(A) FETFT TARRTACE CheH SIoiFe

(B) §oITHE CARITHEH T W

(©) 3 TR G S

(D) §foHA TS Gk I



F

134.

(84) ST-1

133." In order to access the students’ academic achié‘vements of teaching environmental studies

which of the following evaluative indicator shouw not be used ?

(A) Observation.

(B) Discus;ion

(C) Experimentation | ‘ |

(D) Remedial teaching | '

mmm%mﬁmﬁﬁﬁmmﬁw%mmﬁﬁm
HTHT Y I T4 TE o s =nfaw ¢ 2

(A) FEATHA HET

(B) aafm

(C) wam &

(D) ITFTRTH 0T HEET

Wi
(A) Good teaching is based on activity.

(B) Good teaching is democratic.
(C) Goed teaching is not value based.

(D) Good teaching is planned with definite aim.

frferRea 3 @ i o ferdrar ar=s frewr A 7 2 2

(A) mﬁmmmﬁﬁmb

(B) 3o g S AR |

(C) . r=a f¥re g amuria 78 €l 2 | :
(D) et e gegattya fifvea stvag A2 |



757

; (85) : :
@35, Which one of the following chojce i ns _ ¥
oice is nog"mcluded in the content of environmental study ?

(A): Forest conservation h

(B) Political conservation
(C) Water conservation

(D) Soil conservation

Preterfiee 3 & 2 an Fasves watan arearae o6t ey i i 78 o e 7
(A) 99 Gl

(B) Trifas drequr

(C) T HXEo

(D) e HTEgor

Which one of the following law is not related to the trial and error theory of learning ?

(A) Law of reinforcement
(B) Law of readiness
(C) Law of exercise

(D) Law of effect

- @ﬁqmmm%magﬁmﬁwﬁﬂﬁ%?

fyeferfga o
(W) g e

(B) e 1

(€) 3 %1 FaE

’

(D) T 1




¥ (86) ST-1

137. To prevent child labour in India in which year the Child Labour (Prohibition and Regulation)

Act was passed ? -

F T g

(A) 1938
(B) 1988° "
(C) 1986

(D) 2017 ;

(3 vt o s e e s (v ) s fv 3 e

fora w7 '.
(A) 1938

(B) 1988

(C) 1986

(D) 2017

@ 138. What is the minimum legal age of marriage for girls and boys in India ?
(A) 16 years and 18 years

(B) 18 years and 21 years

(C) 18 years and 18 yedrs

(D) 21 yearsand 21 years

YR H TSRl 7 gl & forarg i aaw wIEf smg g 7

(A) l6ad g |8 aY

(B) 18§ ud 2] o

(C) 18udud 187

(D) 21edug2lad




£

@

- ST-1 *@ ,39 What is the name of ‘textile city® of Ra;jasthan ?
lation) - ; N
(A) Udaipur (B) Ajmer
(C) Sikar ' (D) Bhilwara
TSR 6 T8 T 57 qy THE
(A) S| (B) e
iy ] (C) et (D) . sltetars

140. What is the name of medicine commonly used to control the addiction of narcotic drugs ?

(A) Folic acid . - (B) Cocaine

(C) Ascorbic acid (D) Pethidine

Tttt canat <t o P a3 3 s o s € 9 areh shef s T R o

(A) HITeTeh 3756 (B) I

(C) Uwhiteies 3 (D) #frdi

141. Which of the following is declared as 100% Open Defecation Free (ODF) State ?
(A) Andhra Pradesh (B) Assam

(C) Kerala (D) Tamil Nadu

Prerforaa 3 & 1 &1 100% G& & 99 T (3ius) Tsa 2 7

(A) Y W | (B) I&H

© ¥ - (D) dfes
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142.

143.

@ 144.

AY
(88) s i
abha from Rajasthan is

The total number of Member of Parliament in Rajya S

(A) 10 (B) 25
(C) 35 (D) 20
e 35 T T e ) e de 8
(A) 10 (B) 25
(Ci 35 (D) 20
Who discovered nylon ?

(A) Melvin Calvin (B) Wallace Carothers

(D) Peter Mitchell

(C) Robin Hill

T o e foe R 2

(A) aAfeaa Ffee (B) g Hud
(C) e feer (D) e figie

Which of the following is not related to Rajasthan ?

(A) Beneshwar Fair | (B) Pushkar Fair
(C) Khejarli Fair (D) Magh Fair
frerferRaa & @ S @1 Uog™ S TR A R 2
(A) SO (B) e Hem

(C) @it vel - (D) g Aem




F
yas, When did the first passenger train staryed in ngiq »
/o
(A) 1920 (B) 1856 |
(€) 1833 (D) 1959
Ra H W A Yo 4y T3 g 7
(A). 1920 (B) 1856
@146. What is ‘Pisciculture® 9
(A) Bee culture (B) Fish culture
(C) Poultry culture (D) None of the above
et ®=n R 7
(A) WYFEE T (B) waelt e
(C) i urer (D) I9dw # B/ s T4

147. Jhamarkotra mine is famous for

(B) Rock phosphate

(A) Copper

(C) Zinc (D) Uranium
SrEel WeH 9iEE 2

(A) diaT (B) e HrEhe

) T (D) Hfem



https://cssri.org/reet-notification-3rd-grade-vacancy/

@ 148. Which of the following is & €0

F

150.

(90) |
ntaﬁous disease 7

(A) Diabetes (B) Heart attack
(D) Diphtheria

(C) Hypertensi.on

ﬁwﬁﬁmﬁﬁﬁamﬂﬂmﬁ%?

(A) HyaE (B) FAET

(C) I=-TFEN (D) feefifen

. Which of the following test is directly related with HIV 7
(A) Widal (B) MP

(C) ESR (D) ELISA
Prefrfaa 3 @ w1 T T & v arafRa € 7
(A) faere (B) wadt

(C) FTHAR (D) e

In which year pulse polio immunization programme was launched in India ?

(A) 1985 (B) 2005

(C) 1995 (D) 1990

YR & vew Tferdl Sehrehi Hresn e e e w7

(A) 1985 (B) 2005

() 1995 , (D) 1990




